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How to use CPLEX?
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How to use CPLEX?

> mt.mod int i_max .3/ R

../ T

int Jj_max = .

int k max = ...;// HGHE

range I = 1..i max;// BEAEEADEH

range J = 1..j_max;// LiHZEADEH

range K = 1..k _max;// BERESDEH

int c[I,J] .3 /) I j > B i ADOEGRLIEMAHI-YEEIX

] ->

int d[I,K] L3 /] BBE 1D

int b[J] = ...; // I35 j QOEEREEETE

int m[J,K] .3/ IF j O EE kK DEEFEEZRTZREITH

dvar float+ x[I,J,K];// Ii1% j - BAE i ~0O G k OHFHEEGEA)

minimize
sum(i in I) sum(j in 3J) sum(k in K) c[i,j]*x[1i,7,k];
subject to {
forall(i in I) {
forall(k in K) {
sum(j in J) x[i,j,k] == d[i,Kk];
}

}
forall(j in J) {

sum(i in I) sum(k in K) x[i,j,k] <= b[j];
sum(i in I) sum(k in K) m[j,k]*x[i,]j,k] == ©;
}
}



How to use CPLEX?

» mtex|1.dat

i max
j_max
k_max

5;
3;
4;

b = [3000 3000 3000];
c =

[4 6 9]

[5 4 7]

[6 3 4]

[8 5 3]

[10 8 4]

1;

d=[

[ 80 85 300 6]
[270 160 400 7]
[250 130 350 4]
[160 60 200 3]
[180 40 150 5]
1;

m= [

[1 01 0]

[0 0 0 1]

[1 0 0 0]
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How to use CPLEX? —----

> STEHROWER ([f8]127) =@

// solution (optimal) with objective 12014
// Quality There are no bound infeasibilities.
// There are no reduced-cost infeasibilities.
// Maximum Ax-b residual = 0
// Maximum c-B'pi residual =0
// Maximum |x| = 400
// Maximum |slack| = 2902
// Maximum |pi] = 8
// Maximum |red-cost| = 8
// Condition number of unscaled basis = 1.4e+02
((x =[[[ @ 8 o 6] \ .Ii51(B=85,D=6)
[ 80 0 300 0] ...L3%2(A=80,C=300)
[ 1]
[[ © (%] 0 7]
[270 160 400 O]
Optimal [% S @P
ng‘%“’: [250 130 350 0]
| [[ 6 © o o]
[166 © © 0]
[ 1]
[[ 6 © ©o 0]
[1806 © © 0]
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